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—fE K 19 3.7 89.5% 3.9 92.6%
TKE 25 6.3 92.1%
#E 1 1.0 98.2%
IKE 1.0 99.4%
EKEMER 2 18.0 88.7% 1.0 97.5%
BE 19 2.9 93.0% 1.8 95.6%
EU-£T a0~ 3 4.3 91.2% 2.0 99.4%
EIRAR AR B 1.0 92.7%
BEX 9 4.0 93.1% 1.9 96.1%
E 5\ EREA 3 17.0 94.5% 5.0 92.7%
FIRER 1.0 98.9%
REE 1 9.0 89.9%
5} 8 15.1 89.5% 1.3 99.0%
£ 6 6.0 89.2% 2.0 94.0%
Bh7K 3 3.0 90.7%
HWEX 9 4.6 93.3% 4 2.3 94.2%
KB ER 4 2.3 93.0% 9) 4.4 90.1%
BECB 9 1.2 93.8% 1 1.0 98.5%
BEXAE 4 3.5 92.4% 2 1.0 94.6%
& E 6 2.8 88.6%
HBA eSS 4 4.5 89.9%
CE 131 9.3 91.6% 2.3 95.3%
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